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BN 7 5H [ ;] 78 88 ER:| 101 117 2 T8 25 38 T T T
AT B (EER) (5 5,243 5,496 4,815 2,991 5,143 2,825 5,150 5,191 5,045 26,008 5,212
=N DN kg 4,910,490 5,214,700 4,531,650 5,490,820 5,443,170 5,001,810 5,024,830 4,775,520 5,450,100 45,843,090 5,003,677
Mo s (FER) N (5 3,377 3,413 3,395 3,518 3,486 3,302 3,541 3,445 3,756 31,233 3,470
- A & kg 2,821,540 2,849,620 2,753,220 3,055,850 3,020,390 2,803,160 2,884,630 2,880,280 3,039,020 26,107,710 2,900,857
M B — ) TEREEK (5 7 6 0 0 0 3 8 3 T 31 3
K DN kg 3,670 2,590 0 0 0 3,820 8,390 460 920 19,850 2,206
P N NS (5 27 26 274 39 73 33 2 22 52 358 20
PRI % (A 3ER) DN kg 13,480 13,990 9,370 20,040 12,240 25,550 15,720 9,030 19,530 138,950 15,439
W (M — ) NS [ 38 71 81 93 103 189 199 7950 146 1,110 123
" A & kg 7,820 13,220 15,390 28,400 21,870 38,120 44,140 37,180 26,290 232,430 25,826
s &' 5 - % TBAEK S 83 ] 85 o7 82 77 89 87 82 748 83
[N kg 110,080 98,160 119,630 116,930 104,820 89,470 107,340 113,090 99,700 959,220 106,580
pe G S 55 52 52 55 55 78 50 57 51 782 57
A= kg 36,660 54,880 38,620 39,070 36,430 33,800 40,160 40,360 36,440 356,420 39,602
[ BAEK (5 158 166 126 118 112 110 135 133 133 1,701 132
[N kg 124,630 146,280 90,310 89,430 88,130 87,840 109,360 111,470 111,030 958,480 106,498
P N & 6 3 5 7 5 7 3 17 2 [ 7
- N ka 8,32C 7,520 7,04( 5,900 5,830 10,11 11,2 19,070 14,640 89,6801 9,964
o &. TRA 2K = 8,994 9,315 8,583 8912 90X  8od/ 9231 9139 10,279 T *
= ® N kg 8,036,690 8,400,960 7,565,230 8,846,440 8,732,880 8,003,680 8,245,820 7,986,460 8,797,670 74,705,830 8,300,648
X _ - BT = "X & T 72 2 73 99 89 50 89 88 86 748 83
(X BCE (LR ) | < A 1} 5§ ] S S | S § | S ) S B 1 opl 219
- F A= | " [ 233 323, 332] 381 310 2/, 305] 3131 252 2,720] 307}
2 BEENE
EBhL [3;| 5H ©H 78 8H ER;| 1013 111 25 TH 25 3H R T T 5
TH D) ToX 1,132.51 1,623.61 3,240.15 3,185.12 1,856.88 3,302.63 3,388.43 3,379.75 2,796.52 23,905.60 2,656.18
R 75% /A8 3,108.60 1,763.67 3,234.18 3,574.61 2,294.14 2,632.86 2,133.83 1,253.22 3,461.17 23,456.28 2,606.25
_32% 3.200.01 1,785.49 3.301.10 3.035.02 3.600.03 3,446.86 3.503.23 3.407.25 3.384.51 28,660.40 3.185.49]
G 7,347.02 5,172, 0,775.43 9,794.75 7,751.05 9,382.35 5,025.29 8,040.22 5,642.20 76,031.28 8,447.07}
3 J =] - o = % Y
i 5| 78 81 ER:] 101 117 2 T8 21 31 T 5
S ESIPREE i 1,267 1,262 1,277 1,275 1,262 1,267 1,273 1,266 1,285 1,270
15% ECABRAONARE T 186 183 184 185 178 185 185 184 182 184
FEAAROCOER ppm 11 24 10 14 12 11 15 14 10 13
TR =) Ome T 1,286 1,286 1,290 1,276 1,258 1,282 1,283 1,261 1,290 1,279
25% ECABAONARE T 180 182 184 184 178 186 185 177 179 182
BEIZROCORE ppm 14 13 10 13 11 11 10 9 10 11
LS T 1,305 1,300 1,310 1,268 1,273 1,278 1,280 1,281 1,270 1,285
3BH% BEUARAONARE ko 182 183 186 186 186 187 186 185 185 185
BEIZROCOEE ppm 11 14 18 12 11 11 15 12 15 13
(RS4F F1[mE)
i3 R0 S N PR i
15% 25 5% 355
[Par—— TR o SHI3H~21H TIH2H~9H
PR TIJ3AT SH18H~21H 11H28~9H
N - D5 — SH20H~21H TIH120~16H
HE AR i SH22H 1iA1E
5 3 dEm il (££4[8])
!E_W 9] 51 [ 78 8H oH 1013 111 21 TH 21 3 H T
TRIRE — — — GHoH = = EIEEIE] = — T2H3H =
18% AEfmRE — — — 78178 = — 10H8H — = 18375 —
EECES -1 ng-TEQ/mN — = 0.0035 — — 0.00072 — — 0.0021 0.0021
TIRE — = = GHaH = = = = = 240 =
25% — — — 78178 — = = = = 1878 =
ng-TEQ/mN = = 0.0011 — = — = = 0.00028 0.0007
3 — = = 6H5H — — TOHBH — — ToH5H —
kEES AERRE — — — 7H17H = = 7A17H = = 1875 =
LRGeS 1 ng-TEQ/mN = = 0.0044 = = 0.00067 = = 0.038 0.014
6
5H [ 7B 81 ER:| 1013 119 25 H 25 31 T 5
TR = 7H =] 20 - 3H pi=] SH El=] =
AR = = 315 28H 315 = 20H 30H 25H 24H =
125 FUCATERE g/mN = 0.001 %@ 0.001 %@ 0.001 %m® = 0.001 *#& 0.001 *#& 0.001 % 0.001 *%m 0.001 *a
RERBCYIRE ppm = 1.0 1.0 %@ 1.0 %% - 1.0 %8 1.0 %8 1.0 %% 1.0 %8 1.0 &
ERECIRE ppm = 18.0 11.0 13.0 = 14.0 14.0 10.0 8.0 14.0
ppm = 5.0 5.0 5.0 = 5.0 8.0 2.0 10.0 5.7
= 3H 78 i) 30 &H = 30 = =] —
= 25H 31H 28H 31H 29H = 30H = 24H =
225 BUCAERE g/mN 0.001 0.001 % 0.001 % 0.001 57 0.001 7 = 0.001 57 = 0.001 % 0.001 %
g ppm 1.0 %@ 1.0 %% 1.0 %% 1.0 %8 1.0 %8 - 1.0 %8 - 1.0 *m 1.0 &
ERECEE ppm 14.0 18.0 17.0 17.0 19.0 — 17.0 — 15.0 16.7
BLKTORE ppm 6.0 9.0 6.0 6.0 5.0 = 10.0 = 8.0 7.1
TRERE — =] 8H 5H =] 70 =] = 6H 5H =
AR = 25H 315 28H 315 29H 20H = 25H 24H =
2% FUCAEE g/mN 0.001 %% 0.001 %& 0.001 %% 0.001 %% 0.001 xi% 0.001 xi% - 0.001 xi% 0.002 0.001 ki
- mER{LEE ppm 1.0 X% 1.0 X% 1.0 X% 1.0 X% 2.0 1.0 X - 1.0 X% 1.0 X 1.1 Xl
ERBUEE ppm 21.0 17.0 15.0 17.0 18.0 18.0 = 16.0 17.0 17.4
BOKREE ppm 11.0 5.0 10.0 8.0 15.0 7.0 = 8.0 7.0 8.9
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